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1.What is a Cisco Application Policy Infrastructure Controller"? 

A. A Cisco ACI fabric controller with open API 

B. A third-party SDN controller that is compatible with all data center switches 

C. A controller module in the Nexus 9500 Switch 

D. A virtual application development environment 

Answer: A 

Explanation:http://www.cisco.com/c/dam/en/us/products/collateral/cloud-systems-management/acifabric-

controller/at-a-glance-c45-730001.pdf 

 

2.Which statement about the Cisco APIC is true? 

A. It stores policies. 

B. It provides a physical connectivity port to a legacy network 

C. It provides a test environment for applications. 

D. It stores the storage network profile. 

Answer: A 

Explanation:http://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/unifiedfabric/white

-paper-c11-730021.html(first para) 

 

3.What is driving customer interests in SDN? 

A. Return on investment 

B. Programmability/ automation 

C. Application bandwidth 

D. Security compliance 

E. Big data analytics 

Answer: B 

 

4.Which customer requirement is addressed by an ACI solution? 

A. Storage consolidation 

B. Multi-hypervisor environments 

C. Database performance improvement 

D. Big data analytics 

Answer: B 

Explanation:http://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/unifiedfabric/soluti

on-brief-c22-729866.html(challenges, second para) 

 

5.Which statement about the Cisco APIC is true? 

A. It provides the application health score. 

B. It provides a physical connectivity port to a legacy network 

C. It stores the storage network profile. 

D. It provides a test environment for applications. 

Answer: A 

 


